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QUESTION 1

Which of the following commands can be used to determine the time of the last login of a given user?
A. showlog

B. recent

C. last

D. history

E. login

Correct Answer: C

QUESTION 2

Which of the following answers are true for cloud computing? (Choose TWO correct answers.)

A. Cloud Computing provides new tools to manage IT resources.

B. From the business perspective, Cloud Computing means outsourcing or centralization of IT operations.

C. Cloud Computing is the opposite of green IT; i.e. the use of fossil, non-regenerative energy for computing.
D. Cloud Computing implies sharing all information with everyone else in \\'the cloud\\'.

Correct Answer:. AB

QUESTION 3

Which of the following commands is used to look up the current IP address of a system?
A. less /proc/net/ipconfig

B. ifconfig

C. showip

D. ipconfig E. sysinfo | grep ipaddress

Correct Answer: B

QUESTION 4
What two character sequence is present at the beginning of an interpreted script? (Please specify the

TWO correct characters only)
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Correct Answer: #!

QUESTION 5

Which of the following is a Linux based operating system for use on mobile devices?
A.i0S

B. CentOS

C. Android

D. Debian

Correct Answer: C
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